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Inverse Interpolation using Bessel Function

* eps=0.001: ps accuracy

e Counter 1~100
Use Bessel Formula

* CounterOor 101
Use Linear Interpolation

const double eps = 0.001;

do {

counter++;

for (int 1 =0 ; i <n ; i++){

if ( abs(y -
ns = i; dif

if (ns <2 || n -

return 0;

p_old = p_new;
pnew = (y - £ 0 - d 2¥p old*(p_old - 1.0)/2.0
- d 3*p old*(p_old - 1.0)*(p_old - ©.5)/6.0
- d_4*%(p_old*p_old - 1.0)*p_old*(p_old - 2.0)/24.0)/d _1;
if (counter > 100) return 0;
} while (abs(p_new - p_old) > eps);

te[j]

= CalcTOInvIntPol(data->Get(j));

if (te[j] == o)

te[j]

CalcTOLinIntPol(data->Get(j));}

ys[i]) <
= abs(y

ns <=

dif ) {
- ys[il); }}

3)




DATA

1) 180518YT1314 2) FADCT_000746
 Event Number : 30,000  Event Number : 86,580
e 2 Bars/ 4 Channels e 24 Bars /48 Channels

3) FADCT_000747
* Event Number : 208,344
e 24 Bars /48 Channels



Threshold > 100 Count (1 Count ~0.66mV)

FADCT 000746 _evrec.root

Entries 2598797
Mean 2
Std Dev 0

Total Entries : 4155840

(62.53%)

FADCT_000747_evrec.root

Entries 6333897
Mean 2
Std Dev 0

Total Entries : 10000512
(63.34%)
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